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@Zc*]:
ÎZßV» Óx�VÐ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

�Z[�bÑiòìX
ÑiòìXCÙ ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1 ÎZwÆa
/V6, (200) ~WJÎZÑ]�XZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa �ìX
(500) ~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa /V6,�ìX
zZzw

1 : ÎZw
~ZO�~ __________________ (business) Ð%Z�»gz!*g~ (Managerial Economics) ZOòçâ] (i)

»ZEwìX (economic theory) Ex
(Management) (ZOð b) (Ethics) (ZÜª] a)

(Practice) (»gz!*g~¿ d) (Decision-making) (ê�i~ c)

:~(quantity) ÅlZg (supply) ~Z���äÅzzÐg� (price) Å7 (production) aZzZg (ii)

(increases) (Z���@*ì b) (decreases) (¶�Cì a)

(Zy~ÐÃð7 d) (remains the same) (Ãðp~7�Cì c)

GYD�X (record) ~gkge (Books of Accounts) �WsZ»îÛ (cost) qgzfs~ÐÃ́Ñ�' (iii)

(Marginal cost) (âg745ÿ EGEÑ�' b) (Total cost) (]Ñ�' a)

(Explicit cost) (Z
&½k5Ó4iï
GFGHÑ�' d) (Average cost) (Zz�Ñ�' c)

Æ',Z',ìóÂZÐ (average cost) ZkÅZz�Ñ�' (avrage income) ÅZz�Wæã (Firm) Z#Zq-�Ûx (iv)

qÝ�@*ìX _______________

(Normal profit) (Àòo« b) (super  profit) (4+o« a)

(Zz6,ÐÃðÌ7 d) ( sub  normal  -profit) (f~¬xo« c)

Zzg (total demand) ]Ô (market) !*iZgÅ  (price determination) ~7»ç _________________ (v)

ÅãC�6,HY@*ìX (total supply) ]g�
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(Monopoly) (ZYg{�Zg~ b) (Perfect competition) (å)� a)

(Oligopoly) (PZYg{�Zg~ d) ( Imperfect  competition) ()å)� c)

ÅgZñ (experts) ìT~âCÙ+ (method) ~z{Ã̈K§i (demand forecasting) ÔÅ7ªÏ (vi)

àYCì?  (opinion)

(Judgemental approach (Q$45ÿEHZ6,za) b) (Delphi Technique) (e×2 a)

(Zy~ÐÃð7 d) (Time Series) (�§m, c)

BCìX Planning Curve______________ qgzfs~ (vii)

(Long     run      average    cost   curve) ß8-¦yZ-góÃ�&�s (a)

(Short     run    average  cost   curve) Øĝ¦yZ-góÃ�&�s (b)

(Average   variable    cost    curve) Z-gózk,c*.ÞÃ�&�s (c)

(Average    total    cost    curve) Z-góITÞÃ�&�s (d)

GDP=______________________ (viii)

C+I+G+(X+M) (b) C+I+ G+ (X-M) (a)

C-I+G+(X+M) (d) C+I-G+(X+M) (c)

Æ�gxymÃÒy�@*ìX _____________ Zzg Inflation Rateó Philips Curve (ix)

(Employment Rate) (Zâ�>gf$ b) (Stagflation) (Z6vR× a)

(Zy~ÐÃð7 d) (Unemployment Rate) (RyZâ�>gf$ c)

ìX (suitable example) ÅñçqVw __________________ Prisoner's Dilemma (x)

   (Non-  coperative Game (**yÃW6,&43ð GHG�) b) (Cooperative Game) (ÃW6,&43ð GHG� a)

(Dominant Strategy) (ez
!543ïGEEHZ7ZY d) (Nash Equilibrium) (**lZ&½5Ò2.ç GGGE* c)

z�zx

6,gzÝeZaX (characteristics) Å°pÙóZzgZkÆS:] (managerial economics) ZOòçâ] .2

Æfg)��X (suitable example) ÃZq-ñçqVw Opportunity cost Principle .3

6,gzÝeZaX (exceptions) Òy<ZzgZkÆ̧]  (Law of Demand) �âÈÔ .4

ÒyÙX (types) ÐH%Z�ìóZkÆZZlx Isoquants .5

Ã��X Cost-output Relationship~(short-run) ¾æ] .6

¾§bHY@*ìX (price determination) ~7»ç (Oligopoly) PZYg{�Zg~ .7

ÃZq-ñçqVwÆfg)��X Non coperative Game~ Game Theory .8

Òy<X (types) ZzgZlx (causes) ÆHp�?ZkÆz�;] Inflation .9
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zÎx

6,gzÝeZÉ4/õ JGX (importance) ~ZOòçâ]ÅZÌ (business decision making) »gz!*g~ê�i~ .10

Òy<X (types) Å°p<ZzgZkÆZZlx (Income elasticity ÔÅE5+k,~äpWæã .11

Å=ô<X (Law of Variable Proportions) �âÈoÚ�& .12

6,Zq-¿â^sX Nash equilibiruim (a) .13

¥x<X Saddle Point»Matrix (qgzfsÆ b)

0 3

    -2 -5

-3 -2

Ã�k,<X (methods) ÆZ§hV (measurement) Å°p<ZzgZkÅeö (National Income) ¸òWæã .14

///
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